Chapters 2-3. Cyclohexane & StereoChem Problem Set

1.  You have been given a model of 1,2-dibromocyclohexane.
a. Draw this compound in its proper chair conformation. Accurately depict all axial and equatorial groups.

b. Determine if your compound is cis or trans.

c. Flip the ring and redraw the chair.

d. Draw a Newman projection along the C1-C2 bond for this new chair conformation.  

Label all gauche interactions.

e. Determine the stereochemistry (R or S) of the C1 and C2 carbons of your molecule.

f. Is your molecule chiral?  How do you know?
2.
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a.  Which of the above stereoisomers are chiral?
b.  Which are enantiomers?

c.  Which are diasteriomers?

d.  Which isomer has the lowest energy chair conformation?
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